
Nucleic Acids 
 and Protein Synthesis 



I. DNA (Deoxyribonucleic Acid) 

Structure of DNA 

A. Organic compound made of nucleotides 

- What makes a nucleotide? (3 parts) 

- Sugar - Deoxyribose 

- Phosphate group  

- Nitrogen base (4 kinds) 

- adenine, guanine, cytosine and thymine 
(A,G,C,T) 



Nucleotide of a DNA molecule 



B. Watson and Crick -1953 (N.P. 1962)  

1. Credited with the Double Helix Model 
-  Spiral staircase or Twisted ladder  

2. Maurice Wilkins worked with them too  

Whoês that lady? 

Rosalind Franklin 





C. Nitrogen Base Pairing  

ï A, C, G, T always pair in a certain way 

Á Adenine ï Thymine  

Á Cytosine ï Guanine  

* Hydrogen bonds hold them together  



II. DNA Replication 

A. Copying DNA 

ï DNA strand unwinds and the 
nucleotide chains separate (unzip) 

ï Enzyme helps new DNA chains form 
by using nucleotides floating around in 
the nucleus 





ï Occur in many spots along the chain 

ï Produces two new exact copies of the original 
DNA strand  

B. Mutations 

ï Mistakes in the replication process are rare and 
certain enzymes proofread and correct most 
errors. (1 per 1 billion escape detection)  

ï Mutations can also be caused by chemicals, 
ultraviolet rays and other agents  



RNA 

Ribonucleic Acid 



III. RNA - Ribonucleic Acid 

A. Structure of RNA 

  -Nucleic acid made of nucleotides 

  -Sugar - ribose 

  -Uracil replaces thymine and pairs with adenine 

  -Single strand not  double 

  -RNA is smaller than DNA 

B. Purpose of RNA 

 - to transfer directions for making proteins from 
the nucleus to the ribosomes 

    


